			Shree Shrushti Interior					ASHTVINAYAK INTERIOR		Swamini Enterprises			
SR. NO.	Particulars	Unit	QTY	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount
				R0	R0	R1	R1	R2	R2				
					358060		350960		336084		431390		470020
	Providing and applying Royal Paint on wall & Ceiling of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of	SQFT	6776	35	237160	35	237160	34	230384	40	271040	45	304920
1	paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed												
2	carefully Removing of existing wall pepar	SQFT	2800	8	22400	6	16800	6	16800	10	28000	12	33600
3	Providing and applying Dump prof Paint on wall of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed by Engineer-in-charge.	SQFT	2200	25	55000	25	55000	22	48400	38	83600	40	88000
4	Providing and fixing in position dado tile of approved make & shade on any surface as per details in drawing and Over 12 mm thk bed of cement mortar 1:3 (cement: fine sand) with thick grey cement slurry, with hairline. The job including cutting of tiles & making smooth edges wherever required. The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in the drawing & to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customize line work	SQFT	150	260	39000	250	37500	240	36000	290	43500	260	39000
5	Tiles hairline joints using Epoxy Joint	SOFT	150	30	4500	30	4500	30	4500	35	5250	30	4500

SAI SHRUSHTI INTERIOR

Room No 254 Ambegoan chal No 02 Gholai Nagar Kalwa) Thane Mob: 9768141314 / 9892841890 / 8286255093 E mail: saishrushtiinteriors@gmail.com

Quotation

то

Josh Pawai

Date: 18-09-2024 QTY NO -19

Providing and applying Royal Paint on wall & Ceiling of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface				
dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed	6776	SQFT	34	230384.00
carefully Removing of existing wall pepar				
, , , , , , , , , , , , , , , , , , , ,	2800	SQFT	6	16800.00
Providing and applying Dump prof Paint on wall of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed by Engineer-in-charge.	2200	SQFT	22	48400.00
Providing and fixing in position dado tile of approved make & shade on any surface as per details in drawing and Over 12 mm thk bed of cement mortar 1:3 (cement : fine sand) with thick grey cement slurry, with hairline . The job including cutting of tiles & making smooth edges wherever required . The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in the drawing & to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customize line work	150	sqft	240	36000.00
Tiles hairline joints using Epoxy Joint	150	sqft	30	4500.00
Faceis	specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed Providing and applying Dump prof Paint on wall of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed by Engineer-in-charge. Providing and fixing in position dado tile of approved make & shade on any surface as per details in drawing and Over 12 mm thk bed of cement mortar 1:3 (cement: fine sand) with thick grey cement slurry, with hairline. The job including cutting of tiles & making smooth edges wherever required. The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in he drawing & to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customize line work	Providing and applying Dump prof Paint on wall of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers pecified and as directed by Engineer-in-charge. 2200 22	Providing and applying Dump prof Paint on wall of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying two under coats and one finished coat of paint to achieve the required finish approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed by Engineer-in-charge. Providing and fixing in position dado tile of approved make & shade on any surface as per details in drawing and Over 12 mm thk bed of cement mortar 1:3 (cement : fine sand) with thick grey cement slurry, with hairline . The job including cutting of tiles & making smooth edges wherever required . The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in the drawing & to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customize line work Files hairline injurts using Enoxy Joint	specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed 2800 SQFT 6 Providing and applying Dump prof Paint on wall of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface flust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed by Engineer-in-charge. Providing and fixing in position dado tile of approved make & shade on any surface as per details in trawing and Over 12 mm thk bed of cement mortar 1:3 (cement: fine sand) with thick grey cement slurry, with hairline. The job including cutting of tiles & making smooth edges wherever required. The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in he drawing & to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customize line work

GST NO: 27AOWPP5957MIZO

NOTE This Quantity is Approximately

All Tax Extra

Any Extra work charge will be Extra



SAI SHRUSHTI INTERIOR

Room No 254 Ambegoan chal No 02 Gholai Nagar Kalwa) Thane Mob: 9768141314 / 9892841890 / 8286255093 E mail: saishrushtiinteriors@gmail.com

Quotation

TO

Josh Pawai Powai mumbai Date : 13-09-2024 QTY NO -19

Sr. No	Particulars	Qty	unit	Rate	Amount
1	Providing and applying Royal Paint on wall & Ceiling of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed	6776	SQFT	35	237160.00
2	carefully Removing of existing wall pepar	2800	SQFT	8	22400.00
3	Providing and applying Dump prof Paint on wall of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed by Engineer-in-charge.	2200	SQFT	25	55000.00
4	Providing and fixing in position dado tile of approved make & shade on any surface as per details in drawing and Over 12 mm thk bed of cement mortar 1:3 (cement: fine sand) with thick grey cement slurry, with hairline. The job including cutting of tiles & making smooth edges wherever required. The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in the drawing & to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customize line work	150	sqft	260	39000.00
5	Tiles hairline joints using Epoxy Joint	150	sqft	30	4500.00
					358060.00

GST NO: 27AOWPP5957MIZO

NOTE This Quantity is Approximately
All Tax Extra

Any Extra work charge will be Extra



	Sw	vamini Enterprises				
		GST-27CRVPP5856R1Z9				
Contact	Alpesh 9579558088	email ID	SWa	aminientp0	909@gmail.c	<u>com</u>
Quote No	24/025	Date			13-Sep-24	
Customer Info	Joshh Powai					
		Decsription				
Sr No	IT	EMS	qty	Unit	Unit price	Amount
1	shade filling the dents with approve crack filler, binder, cleaning and masurfaces, applying a coat of sealer specifications, applying two under cachieve the required finish inclusional scaffolding, cleaning etc. complete as	on wall & Ceiling of approved make & ed Acrylic putty gypsum / or approved aking the surface dust free, preparing or primer as per the manufacturers coats and one finished coat of paint to uding scrapping the existing paint, as per detail drawing, as specified and as ected	6776	Sqft	45	304920
2	carefully Removing	of existing wall pepar	2800	Sqft	12	33600
3	filling the dents with approved Acry filler, binder, cleaning and making the applying a coat of sealer or primer as applying two under coats and one required finish including scrapping t etc. complete as per detail draw	aint on wall of approved make & shade volic putty gypsum / or approved crack e surface dust free, preparing surfaces, is per the manufacturers specifications, finished coat of paint to achieve the he existing paint, scaffolding, cleaning ing, as specified and as directed by r-in-charge	2200	Sqft	40	88000

4	Providing and fixing in position dado tile of approved make & shade on any surface as per details in drawing and Over 12 mm thk bed of cement mortar 1:3 (cement : fine sand) with thick grey cement slurry, with hairline . The job including cutting of tiles & making smooth edges wherever required . The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in the drawing & to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customize line work	150	Sqft	320	48000
5	Tiles hairline joints using Epoxy Joint	150	Sqft	40	6000
	Terms and conditions		Subtotal		480520
	Work can start only afer receiving PO		Tax 18%		86493.6
-		_	Total	_	567013.6

ASHTVINAYAK INTERIOR

Add.Prayag Co-Op. Housing Society ,14/B,Near Modern English Medium School ,V.N.Eastern Highway Road,Kamraj Nagar , Ghatkopar (E),Mumbai - 400077

Email Address.ashtvinayakinterior1@gmail.com

Estimate

TO: QTY NO. DATE

Customer Name : Joshh
Powai Mumbai

QTY NO. DATE

2024/25-09/034 13-Sep-24

DESCRIPTION	QTY	JNIT/UQ0	AMOUNT	TOTAL AMOUNT (in Rs.)
Providing and applying Royal Paint on wall & Ceiling of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed	6776	sqft	40	271,040
carefully Removing of existing wall pepar	2800	sqft	10	28,000
Providing and applying Dump prof Paint on wall of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed by Engineer-in-charge	2200	sqft	38	83,600
Providing and fixing in position dado tile of approved make & shade on any surface as per details in drawing and Over 12 mm thk bed of cement mortar 1:3 (cement : fine sand) with thick grey cement slurry, with hairline . The job including cutting of tiles & making smooth edges wherever required . The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in the drawing & to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customize line work	150	sqft	290	43,500
Tiles hairline joints using Epoxy Joint	150	sqft	35	5,250
		1	Total	431,390.00

All Tax Extra

Capex Purchase

From: Sent: To: Subject: Attachments:	Sai shrushti interior <saishrushtiinteriors@gmail.com> 18 September 2024 10:32 Capex Purchase Re: Joshh Rebranding - Powai QTY 19 Josh.pdf</saishrushtiinteriors@gmail.com>
CAUTION: This email origing the sender and know the o	nated from outside of the organization. Do not click links or open attachments unless you recognize content is safe.
Respected sir,	
Greetings for day Please find attace information please	chment enclosed herewith & Kindly go with the subject. For more contact us
Warm Regards, M/S. AJIT PARKA 8286255093/976	
On Wed, Sep 18, 2024	4 at 9:13 AM Capex Purchase < <u>capex.purchase@travelfoodservices.com</u> > wrote:
Dear Sir,	
As we discussed kindly	share the revised rate as per our target rate.
Thanks & Regards	
Pramod Singh	
9769548806	

From: Sai shrushti interior < saishrushtiinteriors@gmail.com>

Sent: 17 September 2024 15:33

To: Capex Purchase <capex.purchase@travelfoodservices.com>

Subject: Re: Joshh Rebranding - Powai

CAUTION: This email originated from outside of the organization. Do not click links or open attachments unless you recognize the sender and know the content is safe.

Respected sir,



Room No 254 Ambegoan chal No 02 Gholai Nagar Kalwa) Tha

saishrushtiinterio

Quotat

TO,

Josh Pawai Powai mumbai

Sr. No Particulars

	Providing and applying Royal Paint on wall & Ceiling of approved make & dents with approved Acrylic putty gypsum / or approved crack filler, binder making the surface dust free, preparing surfaces, applying a coat of seal the manufacturers specifications, applying two under coats and one finish achieve the required finish including scrapping the existing paint, scaffold complete as per detail drawing, as specified and as directed
	carefully Removing of existing wall pepar
2	
3	Providing and applying Dump prof Paint on wall of approved make & shawith approved Acrylic putty gypsum / or approved crack filler, binder, cleasurface dust free, preparing surfaces, applying a coat of sealer or primer manufacturers specifications, applying two under coats and one finished achieve the required finish including scrapping the existing paint, scaffold complete as per detail drawing, as specified and as directed by Enginee
4	Providing and fixing in position dado tile of approved make & shade on a details in drawing and Over 12 mm thk bed of cement mortar 1:3 (cement thick grey cement slurry, with hairline. The job including cutting of tiles & edges wherever required. The work shall also include cost of materials, lead and lift at all levels, loading and unloading, transportation, curing etcincidental charges etc. Complete as specified in the drawing & to the satisficient. Ceramic wall tile (Printed) With customize line work
5	Tiles hairline joints using Epoxy Joint

GST I	NO: 27AOWPP5957MIZO		
NOTE	E This Quantity is Approximately All Tax Extra Any Extra work charge will be Extra		
Please	ngs for day e find attachment enclosed herewith & Kindly go with the subject. nation please contact us	For	more
M/S.	m Regards . AJIT PARKALE 6255093/9768141314		

Hi,

As discussed , kindly share your revised rate for the with $minimum\ 10\%$ of discount for further PO process.

		Shree Sh	rushti Interior		
SR. NO.	Particulars	Unit	QTY	Rate	Amount
				•	358060
1	Providing and applying Royal Paint on wall & Ceiling of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed	SQFT	6776	35	237160
2	carefully Removing of existing wall pepar	SQFT	2800	8	22400
3	Providing and applying Dump prof Paint on wall of approved make & shade filling the dents with approved Acrylic putty gypsum / or approved crack filler, binder, cleaning and making the surface dust free, preparing surfaces, applying a coat of sealer or primer as per the manufacturers specifications, applying two under coats and one finished coat of paint to achieve the required finish including scrapping the existing paint, scaffolding, cleaning etc. complete as per detail drawing, as specified and as directed by Engineer-in-charge.	SQFT	2200	25	55000
4	Providing and fixing in position dado tile of approved make & shade on any surface as per details in drawing and Over 12 mm thk bed of cement mortar 1:3 (cement: fine sand) with thick grey cement slurry, with hairline. The job including cutting of tiles & making smooth edges wherever required. The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in the drawing & to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customize line work	SQFT	150	260	39000
5	Tiles hairline joints using Epoxy Joint	SQFT	150	30	4500

Thanks & Regards

Pramod Singh

9769548806